20194 £2[F tHEAELEHFEES (201958188)
ZF3000m 1#H

BfL | 78— K4 g B ExFER R R
1 1&%@ =R AC-KITA N 10:28. 04
2 6l1=% XEB e RN HA 10:34. 77
3 9iFZE ZEfn PN BER 10:45. 16
4 8lfEiE KARE [BAKS E 10:46. 98
5 HES %’]“&E NSy =2 BE 11:13. 61
6 A= BEREXE HE] 11:24.52
)i 1|1FE& fﬁﬁt FlUFESEE R 11:42. 21

FZE JHE EEMN |FTEEFEXRE FIE

ZE AlZH XX5F5 |TEREZXE = I

FZE 10| K= Efﬁ@ JILE?Em'& E 3

ZE 11 E FIZE B XS4 E

FZE 12|18 %7 5|<1ﬁ [FESSEES E 3

ZE 13|85 K */m B XS4 E

ZiE 147858 TEx B X S BER

ZE 151HA FHE8 B XS4 E

FZE 16|Fx@ XK [FESSEES E3

ZE 11X =5 B XS4 E

e 18|1&H#H FF [FESSEES E3




20194 F 520 tHAAS[ELEHBS (201945818H)

B ¥3000m 1#8

NEfRL | 78— K4 & Z ExBE R
1 3|FHLE BEA BERIZEKRF Z50 8:51.94
2 13|FE/Z  ERBk BRIIESR #HE= 8:58. 41
3 16[/hE 2 XEEZXMEEK N 0:04. 41
4 1HES = BRAIESR #HE= 9:04.53
5 11|&EH B—B |[EERIZXXF ]I 0:05. 74
6 15|58 #KF R E Sk FEEI 9:11.46
7 18| f&3l X E2EZKAMESK WA 0:12.33
8 12[FE& K& RIS M) 9:14.23
9 A|ATE EE= REERIZKF Alll 9:17. 21
10 8|4t I BERIEXRF BE 9:25.35
11 LIRS E G PN-2 FIE 9:27.86
12 6[5EH RREIZKF E 9:34. 81
13 IR EE E G PN-2 E 9:39. 02
14 17158 ZE XEZKMESK AR 9:41.61
15 195 & REAZHERIEER E 9:45.77
16 bliEAR =— |HEIEXF M) 9:59.50
17 10[E BERIEXRF =i 10:00. 13

EiE 1Bk $hth BRESRR BR

ZE 217 W@E BERIZEKXF AR




20195 F 552[@ HEANELR

5 +3000m 2:R

R (201945H188)

BfL | 78— K4 g B ixbED R i
1 15(FiIe Kt BRJA K E 5 8:20. 27
2 Sk 1&H BEERIIL—T E 8:23. 01
3 Al5H Es BEEBRIIL—T E N 8:23.23
4 16| =R i)ln_ BA K = 8:33. 41
5 145k % BAaXE =40 8:37.87
6 6|HE azm BEZIKFE BE 8:47.48
Ji HEREE2 BEZAKF =] 8:48. 44
8 1MER FBE SEX I ER F= 8:48.59
9 18| KR+t Bfsl XE2EZKAMESK WA 8:50. 16
10 19[BX &K XEZKMESK WA 8:53.58
11 HETEES PN ESR 8:56. 15
12 9/l BX FEXRIER #HE= 9:07.53
13 121X FEA BaAXEREFFRREFS E 9:09.98
14 8| ARER fi EJIIKZE E 9:14.09
15 13| EHE BaAXEREFFRREIFS E 9:15. 65
RhEE [IEEIR RE JPEHARBENRY IL—THR E
ZHE 2 %EE HIXK FRET EE
ZiE IXx & EJIIKZE i
ZHE 10[# 8K /N [EKRIER FEEIN




20194/ 26 HEAAMELHERS (2019457188)
BE75000m 148
B [T o= _
1 e ERER | BH
I Tlgm B [XEZIREEE BT e17 8,
5 0[EER [E EﬁiEﬂj{%Fﬂ: TS I 16:20. 19
: BT S 530 R S I67e s
=2 KEZE 5 T E
g HEEIMIN ﬁ@@%??  RRLLRT
10 LA == i_'?hIE?-j(":" T 16:53. 55
11 2[ %Ml LA S| 16:50.02
13 Sk BE  mExe L3 [ 171174
14 18X /5' KEEEET _%E's 17: 19. 08
16 I (G T T NI
I lo0E gH IKEEESY ¢ EMEERTAL
HR kR [ KFEREEK %, | 17:56.95
i R HE I =ik EH IIFARE =
sesi HEE Bk (SEAS e
2 Y= I R -3 1Y ) B
R i T & S et 177 S
AHE 5i [FlPEsEE Iz
2iE il T TS S £ 1 o




20194 282[@ tHHEAFEERZRE (2019458188)

B F5000m 248

JI[E {2 2 IN— K% i@ ZEER | B
1 [BECIENE BRI SR #Z)Il | 15:06.26
2 16[FER EA BRI SR Mzl | 15:07.33
3 128 Bz  [BaXKS BER 15:07.93
4 1748 EX BRI SR MZE] [ 15:14.16
5 15|8H =2 BRI SR #HZ) 15:27. 71
6 11/hE 1A PN ER 15:29.03
7 14|ZHE EX BORHIE SR M=) | 15:31.84
8 158K EBX —BXE ES 15:38.66
9 S|l&€EF KFH EBEZIAXE E 15:39. 76
10 4|EE =25 IR I SR ITET] 15:41.10
11 9[;ATEg  uE X 3LIE K= FiE 15:43. 55
12 JIAtE =th BEEC PN RIG 15:45. 25
13 6|mIE KAl BEZIXE s 15:45. 46
14 IEE = JPEHEAEKRITIL—TER B 15:47. 84
15 19[7% Kih BORHIE S8 2]l | 15:52.15
16 13[#E |k PN E5 15:54. 67
17 0EE Kt XEEZXMEEK AR 16:07.92
18 23138 K#0 KEERESK I 16:18. 51
19 21| F R REEE KEERESE R 16:27. 87
20 10| KA RE N E 16:48. 95
21 22|k = KPP EESK 3k 16:53. 56

RhEE 50 & AR & BEEXZFE AR

ZiE 2| L7 KF0 ERFREAF shfE

EiE 4| KE XFE BEZIXE E

=iE gliuO X —BXE FIE




20194 /% 220 tHHEAREELHRZRR (20194£5818R8)

5 +5000m 3#A

JI[E {2 2 IN— K% & BERMER | R
1 15| &R BRI SR ]I 14:58. 75
2 14|28 #X N E 15:00. 37
3 1|F & EEEIE PN RIF 15:04. 44
4 12|22 &K |[BHAXE 12 15:11. 45
5 22| XMW HfT KPEEESK X3 15:13.56
6 16[1lL 8 jtiﬁ BRI SR =]l | 15:16.84
7 19|FE BF X E2EZKAMESK N 15:20.73
8 ollE@E K&F BEEXFE EE 15:22.47
9 17(L# &= BORHIE SR MZ)Il | 15:28.08
10 5|IZFZE BX BEEITPNE #=)1] | 15:34.30
11 18| E1RR 1% X E2EZKAMESK MR 15:36. 18
12 J|1EEE %@it BEEITINE M=) | 15:42.99
13 PN ! BEEIGPNE B4 15:43.32
14 13| KB = N S 15:45. 42
15 21/NE HFFE KPEEESK R 17:20. 21
B hEE 200FH F—B |[XEZAMESE WA
ZiE 455 $hiE BEEITINE R A
EiE 6|k hE BESIRF E
ZiE Tl &=t EBERIAKXE BE
EiE 8|hft BE BEXE L2
ZE 1058 BY¥ —BXE EFR
FHE HEEEE R E%IaEﬂjt%B*J: TR RIS =5
ZE RILA=ESD ETEE: S =4 ED
EiE 2B AR [URFERSE IET




20194 /% %20 tHHEARELHRZRR (20194658188)

5 +5000m 4%f

JBRL | 78— K% il ZEER | B
1 1@ Kt NTTEEERX KR 14:38. 97
2 EEEEES BEXE [ L 14:41.76
3 22| K1 EIA IEEE T ITEY 14:43. 62
4 215k B2 BHREHXE FE 14:52.72
5 ;5K R E+EEXE £ 14:53.89
6 10 & ELFEKXE ﬁﬂ] 14:55. 23
Ji 13[@3r ﬁEE PPN #HE 14:58. 98
8 19{mJIl 1 MEE N IJ.I*” 14:59.33
9 16| 2K W& HAX= £ ] 15:00. 93
10 8li£E WnE ELFEKXE i H 15:08. 63
11 12[ER EX NS BE 15:09. 20
12 17| KIE #£ih HAXZE TR 15:18. 25
13 6|HP Bzt |[BEAERZFRXE BE 15:26.13
14 AN PN Ez5 - & Y7 IR B Bk 4 15:37.82
15 IEZIPN EEEArNE RI& 15:51.70
16 23|38 BT ISR T 16:02.73
ZE SIMA  # BfiE SRR E
FZE A|EPH B HEJIIKE HE JII
ZE |I=& KRiIE ME)KE =B
FZE 1=/ F05R ELTEEXEF xn
ZE 15[FH & BEEXFE RAB
FZE 18[/MR  XH HAX= #ME
ZE 20|88 F; IJ.I*”'“FB"“K% IET
ZiE 00 BT MMEEIGSEN iTED




20194 F 520 tHAAS[ELEHBS (201945818H)
B ¥5000m 5%#A
B4z IN— K% FilE ZERbED | R
1 18kt HRE MEEI PN ITEY] 14:35. 64
2 MK = ETE PN FE 14:36. 17
3 &K HhEk EBEZIAXE M)l | 14:37.32
4 24K fERE ITELEE TS ITED 14:38. 45
5 PETE JIISgL\ TN e 14:42.79
6 9|hlE BER E L fEXF ZIE 14:47 17
7 14[FRX BEH RRERKF E 14:51. 44
8 b|KZBE ™IE ELFEKXE =5 14:52. 40
9 19[0F% KAk IEE NS IED 14:57.85
10 18X FE INAETRE =) | 14:58.78
11 N MEE NS IEY 14:59. 16
12 15| K #EX HAXE =25 14:59. 81
13 23|NEH  EF| NS E 3 15:02. 53
14 8|MEE BEA ELEXFE =)l | 15:06.01
15 6| KfEH & ETEEXFE #HZ) 15:11. 12
16 NET=IGE EBEEIKXF HE] 15:22. 41
17 AR e N E% 15:23. 23
18 10[48H#H XK= ELT&EXF RIR 15:30. 37
EHE 13rlE st ELFEXE BE
EiE 118X BH ELT&EXF )
ZiE [REERE HEEXFE FE
EiE 16[85K EF HAKXE i
ZiE 21|ZK #HE BigEKXZE E5R
EiE 22|F51 K= BRJA K= EE




20194 /% 220 tHHEAREELHRZRR (20194£5818R8)

5 +5000m 6:f

BfL | 78— K4 & BekbER | B
1 2148 —3h eSS - B4 IR B A ed0a) 14:32. 36
2 13[4H XAl MMEEIONES T 14:33.55
3 113k Bt ELfEXF FiE 14:33.90
4 2= = BER K AR 14:34.93
5 17|28 —F NS iTED 14:38. 49
6 91758 XRE = K IN= 14:40. 05
Ji 10|E L F&th EiE R =Ll 14:41. 85
8 1M[EKX B = K B 14:42.63
9 8| KITE =X EniE K= = % 14:42. 87
10 24[mnik  BAA IEEI SN T 14:47.55
11 [FENTEE 55 MEEICP NS iET 14:47.98
12 ImEEE  {#sk ﬁﬂﬁxiﬁ B IR B g% 14:48.53
13 20(f5@H HFH BAaXE N 14:51. 86
14 23|F8 &% BHA 5 e ERES | 14:57.88
15 4#AH EE FEEIENES EE 15:03. 66
FZE 1B KE H & & [ZAC E3
ZE 5| HF K# EEIN] ¥
FZE 6|fBH X BN =
ZE 12|53 = BiEgX=E K&
FZE 15[k E2HE |[LUESFREXE IET
ZE 16|77 18 METEICP NS 5
FZE 18| = ZH BiEEXF E3
ZE 19|%ZH #% BiAXE FE
FZE 21|10 B BARE A




20194 /% %20 tHHEARELHRZRR (2019458188)

5 +5000m 7#A

Bz | /83— K% FiE ZERbED | R
1 1|RE EX = XN 55 40 14:19. 54
2 207l Eff T 50 B i =40 14:32.02
3 14|EH =318 HAXZE BE 14:33. 82
4 IEITEE EEEPN FE 14:36. 37
5 2| EHh BRjA K EE [ 14:39.13
6 REEES HEJIKE M=) | 14:46.20
7 13|80 j(#’ﬁ HAXZE FiE 14:48. 77
8 161J)IIA  fintER MMEEIOPNES 1172 14:50. 04
9 5 B‘Iﬂli N E PN WA 14:54. 26
10 9[FIRE HX ELFEKXE HE] 14:58. 01
11 24 j(ﬁ': Bt BHAaXE 12 ] 15:00. 99
12 6| T+ finth EE N 5 15:04. 70
13 41%8;Z BEBA EE N M=) | 15:13.84
RhEE [HETESR.S HAXE FE
ZiE S/NRJII . BA  |ELEXF A
EiE 10[EA) HE ELT&EXF R
ZiE 11k B ER PN x5
EiE 127+ 3RE HiBXE FE
=ik T B IWEFREA =h,
e 18|72 EA BiEEXE TE
=iz O[HE $hE  |ERpEAT ]
ZiE 20(E3H &N BiEHXE EII
ZE 2113 ZEBp BREHXE BERS
EiE 22K FEB BRJA K itiEE




20194 282[@ tHHEAFE RS (2019458188)

5 ¥10000m 148

JBRL | 78— K4 FilE ZEER | B

1 20|hnEE K& BB K ERE | 29:49.48

2 YIEAEE S PN PN 30:01. 06

3 8|F% EE HEJIXE L5 30:15. 75

4 JMNER IEL )| KFE TR 30:16. 90

5 9I=H =& e EIPNES 5z BB 30:19.47

6 10|12 BAc )| KFE HE] 30:21.67

7 6|8% EEBH EEINPNES £ 30:30. 53

8 28R4 A BRAKE ERE | 30:31.66

9 blRE RE HEJIIKZE EE 30:34. 27

10 B ZE— PN =0 30:34. 49

11 24| /NEF 1B HAKXE IR 30:35. 35

12 A RIE EA L EIP NS =1 30:54.58

13 25[;ZH  th4En HAX= E N 31:27.63

14 20,T0  ER BiEXE FE 31:38. 32

15 AES: N FEEIENES 4] 31:44. 54

16 26 EH FIE HAXZE AR 31:54.23

17 21l KA = PPN e 32:16. 47

18 22|FL FIRER  [REIEEXE E5R 33:12. 76

19 14{F F =&k IXSpN=2 FiE 33:47.95

20 15|F% RE LEXZE E 34:43.57
RhEE 111IUE  $REE BEEIC PN =]
B hEE 18[1AE E= FEXE E3
RhEE 9[=EEF BX LEXFE HE
EiE =8 ®HE FERAZF E
ZiE G S EBEZAXE s
FHE 13 &3} FEXE E
ZiE 16[F+ i LEXFE EFR
EiE 17[F8  #4h FEXE E
ZiE 23|PIER R HAXZE 2




20194 /% %20 tHHEARELHRZRR (20194658188)

5 +5000m 8#f

JBRL | 78— K% il ZEER | B
1 |I&f EA R ZA0 14:18.70
2 [ANSEEE] EEXRFE AR 14:22. 31
3 19[/hMFk - BEXR HAX= FE 14:24. 18
4 4% &L EEKE Al 14:25. 05
5 [HEE N N ]I 14:30. 38
6 16[IUEF A EEKE iy 14:33.50
1 SiI%riE B |[BEZEREXE FIE 14:33.99
8 1IRA  f#1E F—* PN Mzl | 14:36.98
9 4B EX Eﬂ TN =F 14:37. 30
10 6| KT IR F-—%E*Ej(%* FE 14:43. 81
11 10[7 3®E EEIN] iz 14:46. 36
12 11X#& B& NTTFE H A& N 14:48. 08
13 11k 74> EEIN] ]I 14:51.04
14 O|FHIE  1B4h EE N = 14:52.09
15 87k EXNEN |[HEZEEKE sz B 15:03.70

EiE AN SR RSN ZA0

ZiE 13[/h #8355 EEXRFE NV

EiE 175FEZH = ¥ PN =5

ZiE 18|[EY  BE— BBXFE 2E

EiE IINEIES HAXE i

ZE 21U #&2ah HAKZE =

EiE 22|38 EHF BREAKXE IN=)

ZiE 2|HE KFh BAKRE LE




20194 /% 220 tHHEAREELHRZRR (2019458188)

5 +5000m 9%A

JBRL | 78— K% il ZEER | B
1 1[r=—L r3=5 =+1o [NTTEHHEHZAX N 13:59. 69
2 8liEmE 1KHE HEEBRIIL—T BiR 14:05. 20
3 =k &E= BEEBRIIL—T E N 14:14. 38
4 11{FJIl HE EEKE FE 14:16. 14
5 6|1FEk  FIFk EFREL E[E 14:17.10
6 5ILF  fE— eSS - A R B A E% 14:25. 02
7 22| FBH gEZ2E  |BERHEXZE HE 14:25. 61
8 2|/ BEdk ERE L 50 14:28.65
9 T/NEFEH EBEXRXR NEEE T ZA0 14:33.39
10 15| k% =X EX PN EE 14:42.90
11 10|pki#E  FE—ER FEIPNES 12 15:12. 23
FZE JIFFN A Z &0 &L £ T
ZiE A[NICHOLAS KIPLIMO|Z=%n&14H AN
EiE 12(|ME E& kPN =5
ZiE 13[EN 3}5E = KF ¥
EiE 14[th+t  BR4 RN BE
ZiE 16[KE %k BBXE ABx
FZE 17(F)I AN BiEAEKXE BEK
ZiE 18| XA E# BiEAKXE E%
EiE 19]/hME Eh BREEXF 2E
ZiE 20|RE  f#iE BREAKXE EFR
EiE 21|85 K A+ BREAXE ed0a)




